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2019

(General Studies/lkekU; vè;;u )

(Paper-I/i=k&I)

(vf/dre vad&300)
Instructions :
	z The figures in the margin indicate full marks.
	z Answer eight question. selecting three each from Section-I and Section-II and two from section-III.
	z Candidates are required to give their answers in their own words as far as practicable.
	z All questions have been printed both in Hindi and English. In case of any ambiguity in Hindi version. the 

egnlish version shall be considered authentic.
	z parts of the same question must be answered together and must not be interposed between answers to other 

questions.

funsZ'k %

	z mikUr ds vad iw.kk±d ds |ksrd gSaA

	z [kaM&I ,oa [kaM&II izR;sd esa ls rhu&rhu iz'u rFkk [kaM&III ls nks iz'uksa dk p;u djrs gq, dqy vkB iz'uksa ds mÙkj 

nsaA

	z ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA

	z lHkh iz'u fganh vkSj vaxzsth nksuksa Hkk"kk esa Nis gSaA ;fn fganh Hkk"kk esa dksbZ lansg gS] rks vaxzsth Hkk"kk dks gh xzkef.kd 

ekuk tk,xkA

	z ,d gh iz'u ds fofHkUu [kaMksa ds mÙkj vfuok;Z :i ls ,d lkFk gh fy[ks tk,¡ rFkk muds chp esa vU; iz'uksa ds mÙkj 

u fy[ks tk,¡A

[kaM&1@Section-I

	 1.	 What were the causes of the Revolt of 1857? What effect did it have on Bihar?� 38

	 	 1857 ds foæksg ds D;k dkj.k Fks\ fcgkj esa mldk izHkko D;k Fkk\

	 2.	 Describe the spread of Western Education in Bihar between 1858-1914.� 38

	 	 1858-1914 ds nkSjku fcgkj esa ik'pkR; f'k{kk ds laizlkj dk o.kZu dhft;sA

	 3.	 Write a note on Swami Sahajanand and the Kisan Sabha Movement.� 38

	 	 Lokeh lgtkuan vkSj fdlku lHkh vkanksyu ij ,d fVIi.kh fyf[k;sA

	 4.	 Explain the social and economic ideas of Ram Manohar Lohia and Jayaprakash Narayan.� 38

	 	 jke euksgj yksfg;k vkSj t;izdk'k ukjk;.k ds lkekftd vkSj vkfFkZd fparu dh O;k[;k dhft;sA

	 5.	 Discuss the features of Pala art and architecture and its relationship with Buddhism.� 38

	 	 iky dyk rFkk Hkou&fuekZ.k dyk dh fo'ks"krkvksa dks Li"V dhft;s rFkk ckS¼ èkeZ ds lkFk muds lacaèk ij Hkh 

izdk'k Mkfy;sA

	 6.	 Write short notes on any two of the following:� 19×2=38
	 (a)	Dr. Rajendra Prasad and the National Movement
	 (b)	Gandhiji views on caste and religion
	 (c)	 The Dalit Movement in Bihar.

	 6.	 fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k;s%� 19×2=38
	 (d)	MkW- jktsaæ izlkn vkSj jk"Vªh; vkanksyu

	 ([k)	tkfr vkSj èkeZ ij xk¡èkhth ds fopkj

	 (x)	fcgkj esa nfyr vkanksyu
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[kaM&II/Section-II

	 7.	 Discuss the pattern of globale spread of Covid-19 pandemic with reference to the international migration 
and trade.� 38

	 	 varjkZ"Vªh; LFkkukarj.k vkSj O;kikj ds lanHkZ esa dksfoM&19 egkekjh ds oSf'od izlkj ds rjhds dh ppkZ dhft;sA
	 8.	 What are the variables of the World Happiness Report-2020? Give reasons why the Nordic countries are 

considered as the top ranking countries in the world.� 38
	 	 fo'o [kq'kgkyh fjiksVZ&2020 ds foHksn ds D;k gSa\ dkj.k crkb, fd ukWfMZd ns'kksa dks fo'o esa izFke&Lrjh; ns'k D;ksa 

ekuk tkrk gS\
	 9.	 Examine the recent disasters like 'Bushfire' in Australia and 'Amazon Burn' in Brazil with their causes and 

impacts on local ecological and global atmosheric conditions.� 38
	 	 vkWLVªsfy;k ds ^taxyh vkx* (cq'k&iQk;j) vkSj czkthy ds ^ves”ku nkg* tSlh rkRdkfyd vkinkvksa dh muds 	

dkj.kksa vkSj LFkkuh; ikfjfLFkfrd rFkk oSf'od okrkoj.kh; n'kkvksa ij izHkko lfgr tk¡p dhft;sA
	 10.	 Explain the socio-economic and ecological implications of Covid-19 lockdown in India with  

examples.� 38
	 	 Hkkjr esa dksfoM&19 ykWdMkmu ds lkekftd&vkfFkZd vkSj ikfjfLFkfrd fufgrkFkks± dh lksnkgj.k O;k[;k dhft;sA
	 11.	 "With 'Mission Shakti', India becomes the fourth largest space power in the world." Discuss this  

statement.� 38
	 	 ¶fe'ku 'kfDr* ds lkFk Hkkjr fo'o dh pkSFkh lcls cM+h varfj{k 'kfDr cu x;k gSA¸ bl dFku ij ppkZ 	

dhft;sA

[kaM&III/Section-III

	 12.	 Given below is a pie diagram of population pertaining to the year 1998 and the table pertaining to sex and 
literacy-wise population ratio of different States of India. Read these carefully and give answers to the 
questions that follow:� 38

TN 
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States
Sex and Literacy-wise Population Ratio

Sex Literacy
Male Female Literate Illiterate

AP 5 3 2 7
MP 3 1 1 4
Delhi 2 3 2 1
Goa 3 5 3 2
Bihar 3 4 4 1
UP 3 2 7 2
TN 3 4 9 4

Total population of the given States = 32,76,000
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	 (a)	 What will be the percentage of females in UP, MP and Goa taken together of the total pupulation?
	 (b)	 What was the total number of illiterate people in Bihar and UP?
	 (c)	 Find the ratio of the number of females in Delhi and Tamil Nadu.
	 (d)	 What was the percentage of females in all the mentioned States taken together? � 9+10+8+9=36
	 	 o"kZ 1998 esa Hkkjr ds fofHkUu jkT;ksa dh tula[;k lacafèkr o`Ùk lkj.kh vkSj fyax ,oa f'k{kk ds lanHkZ esa tula[;k 

vuqikrh lkj.kh uhps nh xbZ gSA budk vè;;u è;ku ls nhft;s vkSj muds uhps fn;s x, iz'uksa ds mÙkj nhft;s%

		

rfeyukMq
9»

vkaèkz izns'k
25»

eè; izns'k
20»

fnYyh
20»

xksok
20»

fcgkj
11»

mÙkj izns'k
15»

jkT;

fyax vkSj f'k{kk ds lanHkZ esa tula[;k vuqikr

fyax f'k{kk

iq#"k L=kh f'kf{kr vf'kf{kr

vkaèk izns'k 5 3 2 7

eè; izns'k 3 1 1 4

fnYyh 2 3 2 1

xksok 3 5 3 2

fcgkj 3 4 4 1

mÙkj izns'k 3 2 7 2

rfeyukMq 3 4 9 4

fn;s x, jkT;ksa dh dqy tula[;k = 32,76,000

	 (d)	 mÙkj izns'k] eè; izns'k vkSj xksok dks feykdj vkSjrksa dh la[;k dk izfr'kr] dqy tula[;k dk fdruk gksxk\

	 ([k)	 fcgkj vkSj mÙkj izns'k esa dqy fdrus yksx vui<+ Fks\

	 (x)	 fnYyh vkSj rfeyukMq dh fL=k;ksa dh la[;k dk vuqikr D;k gksxk\

	 (?k)	 lHkh jkT;ksa dks feykdj fL=k;ksa dh la[;k dk izfr'kr D;k Fkk\

	 13.	 The following chart shows the production of cars in thousands for different companies in India. Read the 
multiple bar diagram and answer the questions given below:

Production of Cars for 2002-05 period from the selected manufactures
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	 (a)	 Which companies have shown the highest and the lowest percentage increase and decrease in 
production over last year? Also give the actual percentages.

	 (b)	 What is the ratio of differences between production by Maruti and Honda during 2003-04 and  
2004-05?

	 (c)	 What are the ratios of total production of cars during the successive years?
	 (d)	 In 2005-06, the production of cars by Maruti and Hindustan Motors was doubled, while for all  

other companies the production remains the same. What is the percentage increase in overall 
production? � 8+10+10+8=36

	 	 uhps nh gqbZ cgq'kykdk ys[kkfp=k esa Hkkjr dh fofHkUu daifu;ksa dh dkjksa ds mRiknu (g”kkj esa) dks n'kkZ;k x;k gSA 
bldk vè;;u dhft;s rFkk fuEufyf[kr iz'uksa ds mÙkj nhft;s%

o"kZ 2002 ls 2005 rd dh vofèk esa pqus gq,

fuekZrkvksa dh dkjksa dk mRiknu
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	 (d)	 fdu daifu;ksa ds mRiknu esa fiNys o"kZ dh rqyuk esa vfèkdre vkSj U;wure izfr'kr dh o`f¼ rFkk gkfu gqbZ 
gS\ okLrfod izfr'kr dk mYys[k Hkh dhft;sA

	 ([k)	 ek#rh vkSj gksaMk ds 2003&04 vkSj 2004&05 o"kZ ds mRiknuksa ds varj dk vuqikr D;k gS\

	 (x)	 lrr o"kks± esa dkjksa ds dqy mRiknu ds vuqikr D;k gSa\

	 (?k)	 o"kZ 2005&06 esa ek#rh ,oa fganqLrku eksVlZ dh dkjksa dk mRiknu nksxquk gks x;k] tcfd ckfd daifu;ksa dk 
mRiknu vifjofrZr jgkA dqy mRiknu esa fdrus izfr'kr dh o`f¼ gqbZ\

	 14.	 Study the following graphs and answer the questions given below:� 38
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	 (a)	 What was the percentage increase in cotton production and productivity in 2006-07 as compared to 
2005-06?

	 (b)	 In how many hectares, the cotton was grown in 2009-10 and 2010-11?
	 (c)	 In which year, the cotton production has shown maximum percentage decrease as compared to last 

year?
	 (d)	 In which year, the cotton has shown maximum percentage increase in productivity as compared to 

last year?
	 (e)	 In which year cotton cultivation area was the lowest and how much percentage of maximum area?
	 (f)	 Assuming cotton price as ` 1250 per quintal, what would have been the income of a farmer who had 

5 hectares of cotton area in 2008-09?
	 	 uhps fn;s gq, xzkiQ dk voyksdu dhft;s vkSj fn;s gq, iz'uksa ds mÙkj nhft;s%
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	 (d)	 2005&06 dh rqyuk esa 2006&07 esa dikl ds mRiknu vkSj mRikndrk esa fdrus izfr'kr dh o`f¼ gqbZ Fkh\

	 ([k)	 2009&10 vkSj 2010&11 esa fdrus gsDVs;j esa dikl cksbZ xbZ Fkha\

	 (x)	 fdl o"kZ esa fiNys o"kZ dh rqyuk esa dikl ds dqy mRiknu esa vfèkdre izfr'kr dh deh gqbZ\

	 (?k)	 fdl o"kZ esa fiNys o"kZ dh rqyuk esa dikl dh mRikndrk esa vfèkdre izfr'kr dh c<+ksÙkjh gqbZ\

	 (Ä)	 fdl o"kZ esa dikl ds mRiknu dk {ks=kiQy U;wure Fkk vkSj ;g vfèkdre {ks=kiQy dk fdrus izfr'kr Fkk\

	 (p)	 ;fn dikl dk Hkko `1250 izfr fDoaVy gks] rks ,d 5 gsDVs;j dikl ,fj;k okys fdlku dh vk; 2008-09 
esa D;k Fkh\

	 15.	 Study  the following line graph which gives the number of students who joined and left the school in the 
begining of the year for six years from 1996 to 2001. Initial strength of the school in 1995 was 3000. 
Answer the questions based on the line graph given below:� 38

	 (a)	 The number of students studying in the school in 1998 was what percent of the number of students 
studying in the school in 2001?

	 (b)	 Find the ratio of the least number of students who joined the school to the maximum number of 
students who left the school in any of the years during the given period.

	 (c)	 During which year, the percentage increase in the strength of school was minimum?
	 (d)	 What was the percent increase/decrease in the number of students from 1998 to 1999?
	 (e)	 Find the ratio of the maximum number of students who joined the school to the minimum number 
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of students who left in any of the years.
	 (f)	 In which year, the strength of the school was maxumum?
	 	 fn, gq, ykbu xzkiQ dk voyksdu dhft;s] ftlesa 1996 ls 2001 l=k ds vkjaHk esa fo|ky; esa izos'k ysus o NksM+us 

okys fo|kfFkZ;ksa dh la[;k nh xbZ gSA 1995 ds izkjaHk esa fo|kfFkZ;ksa dh la[;k 3000 FkhA ykbu xzkiQ ds vkèkkj ij 
fuEufyf[kr iz'uksa ds mÙkj nhft;s%

	 (d)	 1998 esa fo|ky; esa i<+us okys fo|kfFkZ;ksa dh la[;k] 2001 esa i<+us okys fo|kfFkZ;ksa dh la[;k dk fdrus 
izfr'kr Fkh\

	 ([k)	 nh xbZ vofèk ds nkSjku fdlh Hkh o"kZ esa U;wured la[;k esa izos'k ysus okys vkSj vfèkdre la[;k esa fo|ky; 
NksM+us okys fo|kfFkZ;ksa dk vuqikr D;k gS\

	 (x)	 fdl o"kZ esa fo|ky; esa fo|kfFkZ;ksa dh la[;k esa izfr'kr o`f¼@fxjkoV D;k Fkh\

	 (?k)	 fdlh Hkh o"kZ esa vfèkdre la[;k esa izos'k ysus okys vkSj U;wured la[;k esa fo|ky; NksM+us okys fo|kfFkZ;ksa 
dk vuqikr D;k gS\

	 (?k)	 1998 ls 1909 eas fo|kfFkZ;kssa dh la[;k esa izfr'kr o`f¼@fxjkoV D;k Fkh\

	 (Ä)	 fdl o"kZ esa o"kZ eas vf/dre la[;k eas izos'k ysus okys  vkSj U;wure la[;k esa fo|ky; NksM+us okys fo|kfFkZ;ksa 
dk vuqikr D;k gS\

	 (p)	 fdl o"kZ easa fo|ky; eas fo|kfFkZ;ksa dh la[;k vf/dre Fkh\


